Parts Information:
EAL Air Compressor 50L Belt Drive 2hp Oil Free
Model No: SAC05020

Item | Part No. Description Item | Part No. Description
10 | SAC9413281003 Tank 50ltr 109 | SAC9052801 Gauge
49 | SAC9038483 Shroud 110 | SAC9049019 Safety Valve 10bar 1/4"bsp Male
105 | SAC9048055 Check Valve m SAC9038482 Motor/Crankcase Cover
106 | SAC9047068 Coupling Body 1/4"bsp Male N2 | SAC9050521 Elbow 1/4"bsp Male-10mm Pipe
107 | SAC9047051 Drain Valve 1/4"bsp Male (Ball Valve Type) n3 MSP58.S Machine Screw Pan Head Phillips M5 X 8mm
108 | SAC9051155 Pressure Reducer 14 | STBJIOW.28 Internal Tooth Washer Black M8

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
There may be alternative versions of this product, please contact us should you require this information.

IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person

WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10f 2 SACO05020 Issue 4 DPL 31/08/21




EALE

Parts Information:
Air Compressor 50L Belt Drive 2hp Oil Free

Model No: SAC05020

Item | Part No. Description Item | Part No. Description
15 | SAC9064788 Cable Lock - SAC9050432 Pulley Pinion Gear (Not Shown)
116 SAC9038001 Handle Plug -- SAC9434B68) Conrod (Not Shown)
N7 | SCB620.SB Socket Cap Bolt M6 x 20mm Black -- SAC9040019 Seal For Conrod Sp200 (Not Shown)
18 RW619.S Repair Washer M6 X19 Zinc - SAC9415051 Crankcase Cover (Not Shown)
N9 | SAC9142241 Screw - SCB635.SB Socket Cap Bolt M6 x 35mm Black (Not Shown)
131 SAC9063202 Air Pressure Switch 8-10Bar - SCB620.SB Socket Cap Bolt M6 x 20mm Black (Not Shown)
132 | SAC9065657 Cord (W/Plug) - SAC9415091 Valve Plate Ass'y (Not Shown)
133 | SAC9064799 Press Button Power Switch (Red) 16a-250v - SACA650300 Gasket, Cylinder (Not Shown)
145 | SAC9043288 Sending Pipe 1/2" (2 Bends) - SAC9064799 Press Button Power Switch (Red) 16a-250v (Not
145a | SAC9043289 Sending Pipe (3 Bends) Shown)
146 | SAC9414249 Connection For Sending Pipe -- SACC700061 Motor/Pump Complete (Internal 1 Phase 2hp
- 230v 50hz) (Not Shown)
300 | SAC9420349 Wheel Kit (152x34)
- SAC9416576 Motor (Internal 1 Phase 2hp 230v) (Not Shown)
301 | SACC700000 Pump OL227 V23050
-- SACA731000 Cylinder Barrel 01196 (Not Shown)
-- SACA861200 Crankshaft (Not Shown)
- SACC710300 Conrod Cover 01227 (Not Shown)
-- SAC9075316 Belt, Toothed (PJ-373) (Not Shown)
- SAC9612310 Carbon Brush (Pair) (Not Shown)
- SAC9416091 Motor Cover Upper (Not Shown)
- SAC9415052 Head Plate Gasket (Not Shown)
-- SAC9416092 Motor Cover Lower (Not Shown)
— - SAC9434C57 MPK Piston Ring Kit (Not Shown)
-- SAC9054016 Air Filter (Not Shown)
- SAC7041070000 Olive (10mm id) (Not Shown)
-- SAC9038487 Fan (Not Shown)
- SAC9700001789 Pressure Gauge 230 psi, 50mm od, Rear Fitting

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
There may be alternative versions of this product, please contact us should you require this information.
IMPORTANT: No liability is accepted for incorrect use of product. Spare parts must be fitted by a competent person
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | |ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 2 of 2

SACO05020 Issue 4 DPL 31/08/21



